o(d dxy) (cm)

02

o(d o) (rad)

0 1 2 3

I

o(d dz) (cm)

0.95

NS EAA TR P N

il

32 1 0 1 2 3

—=— DOUM_VUUUL RUUOUUUDUL — Global_—_ mKeEnouriginal — KECOU
e DOM_V0001_R000000001Global _mkFitNew RECT

—+—— DOM~V0001~R000000001Global—mkFitNewHpTt_ RECO
—— DOM~V0001_R000000001_Global —mkFitNewDetq _RECO
—— DOM_V0001_R000000001 _Global _mkFitNewDett _RECO

mline)

.........................................................................

3 2 -1 0 1 2 3
TP @ (PCA to beamline)

o(®p Jp)

TP @ (PCA to beamline)



	Contents
	Page 1


